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[1] isw any multiplying out in this part
7 (a) | (ii)
a’+b® (a+h 2 . . )
%-(%) M1* | 3.1a | Difference between two expressions from (a)(i)
2a°+2b%—(a% +2ab+b?) -
= 1 dM1 | 1.1 | oe, attempt collect over denominator of 4
(a-b)® (a-b)®
=520 Al | 2.2a | Must see S and "> 0"
Alternative method: Sy Multiplying out their expression for the square of the mean of the
a + b\? _a’+2ab+b? form (c + d)? to reach ¢? + 2cd + d? (need not include the
( 2 ) - 4 denominator). May be seen in part (a)(i).
If two such expressions are present they must both be correctly
multiplied out.
For the statement to be true:
a’?+b? a?+ 2ab + b? Comparing their two expressions (condone <,>,= but expressions
> dM1 ; )
7 4 must be of the correct form i.e. not X) and attempting to
2a® + 2b? = a® + 2ab + b? manipulate (must include denominators)
a’ + b? = 2ab
a?+b%?—2ab >0
(for any real values of a and b)
. Al . i
Which is true because (a — b)? = 0 Must see this or an equivalent statement
[3]
Condone Variance is positive or ‘never negative’ (because
7 (b) Variance is > 0 Bl | 3.2a | Variance is the difference between the mean of the squares and

[1]

the square of the mean)






